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1. (@)
(b)

()

2

Ex:plain the term Cost Management. (3)

Enumerate the steps involved in Budgetary Control.

3

Frdm the following average figures of previous

quarters, prepare a manufacturing overhead budget

. for the quarter ending March 2012. The budgéted

(i

output during this quarter is 4,000 units.
]
Fixed Overheads Rs. 20,000

Variable Overheads Rs. 10,000 (varying @
Rs. 5 per unit) '

Semi-variable Overheads Rs. 10,000 (40% fixed
and 60% varying @
Rs. 3 per unit)
9)

OR

A company has a fixed cost of Rs. 200,000, It
sells two products - X and Y in the ratio of 2 : 1.
If contribution of X is Rs. 10 per unit, and Y is
Rs. 20 per unit. How many units of each X and
Y would be sold at break - even points? (5
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(i)

(iii)

()

3

QR Limited uses a standard absorption costing
system. The following details have been extracted
from its budget for April 2012.

Fixed production overhead cost 48,000
Production (units) 4,800

In April 2012, the fixed production overhead cost
was under -absorbed by Rs. 8,000 and the fixed
production Overhead expenditure variance was
Rs. 2,000 adverse. Calculate actual number of units

produce? (5)

From the following data, plot a Cash Break-even
Chart:

Qutput and sales 10,000 units
Selling price per unit  "Rs, 15

Fixed price Rs. 5,000 (including
depreciation Rs. 1,000)

Variable Cost per unit  Rs. 6 (including
depreciation of Re. 1
per unit) 5

ANE AU 9T @t SRE i)

P.T.Q.
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2. (a) Distinguish between Standard Costing and .
Budgetary Control. : (6)

(b) (i) Calculate standard labour time for matching
part No. Z 235 from the following data:

P.T.O.
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6

Standard batch size

Setting-up time

Operating time (each piece):

Fixing job on machine
Cutting time

Removing job from machine

Allow 10% of totai operation time for inspection

during process and allow further 5% of total time

for fatigue.

(i) The sales Director of a manufacturing

company reports that next year he expects to

100 pieces

64 minutes

2 minutes
10 minutes

3 minutes

sell 50,000 units of a particular product.

The - production manager consults the

- storekeeper and casts his figures as follows:

Two kinds of raw materials, A and B are
required for manufacturing the product, Each
unit of the product requires 2 units of A and
3 units of B. The estimated opening balances

at the commencement of the next year are:

Finished product : 10,000 units,
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Raw Materials : A: 12,000 units: B : 15,000

units.

The desirable closing balances at the end of

the next are :

Finished product : 14,000 units, A-13,000 units.
B - 16,000 units.

Draw up a quantitative chart showing Materials
purchase budget for the next year. (6)

(c) Draw a break-even chart from the foilowing

figures:

Sales (Rs. Lakhs) Profit (Rs. lakhs)
Year 1. 160 4
Year 2. 175 A . 10

From the above chart, predict the variable cost,
contribution fixed cost and profit associated with
a sales volume of Rs. 250. lakh (3)

OR

(a) The standard cost card reveals the following

information:

P.T.0.
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Labour Rate : 50 paise per hour-
Hours set per units for : 10 hours
production

Actual data are given below-

Units produced : 500

Hours worked : 6000
Actual labour cost : Rs. 2400
Caleulate Labour Variances. (6)

(b) From the following particulalrs find
(i) Material cost variance
(i) Material usage variance, and
(iii) Materials pricle variance,
Quantity of material purchased 3,000 units
Value of materials purchased Rs. 9,060

Standard quantity of materials

required per ton of finished product 25 units

Standard rate of material Rs. 2 per unit
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Opening stock of material Nil

Closing stock of material 500 units

Finished production during

fhe period . 80 tonnes

®
(&) we wra - o sk wwd Baan § F s

(@) (i) PrafoRas sifesl 3 wiw o € 22359 fw s
aﬁwa&rqﬁaﬂqaﬁml

AF 3T JEFR 100 7=
T g 64 fame .

e W (TUE W);

wW H qE W OSHE 2 fime
weA | w0 Y 10 fme
TR X TR AT T 3 fme

T TIAA T H 10% T & 2R e &
e ¥ o www @ R mw wm W 5% 3R
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3. (a) “Costs may be classified in a variety of ways
according to their nature and the information nkeds

of the management”. Explain. (6)

(b) A ¢company is manufacturing 1,000 units of a

product. The present costs and sales data are as

follows:
Selling price per unit Rs. 10
Variable cost per unit Rs. 5

Fixed costs Rs. 4,000
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The management is considering the following two

alternatives:

(i) To accept an export order for another 200
units at Rs. 8 per units. The expenditure of
the export order will increase the fixed costs
by Rs. 500.

(it} To reduce the production from present 1,000
units to 600 units and buy another 400 units
from the market at Rs. 6 per unit. This will
result in reducing the present fixed costs from
Rs. 4,000 to Rs. 3,000

Which alternative the management should accept?
Advice. (9)

OR

(a) éalculate ‘Margin of safety’ from the following

data:

Ruby & co. Ratna & Co.
Sales Rs. 1,00,000 Rs. 1,00,000
Cost Rs. 80,000  Rs. 80,000
Fixed-Ruby & Co. Rs. 30,000

Ratna & Co. Rs. 50,000
P.T.O.
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(b)

14
Valiiable- Ruby & Co. Rs. 50,000
Ratna & Co. Rs. 30,000
Profit Rs. 20,000  Rs. 20,000

9)

Two competing food vendors were located side

by side at a state fair. Both occupied building of

the same size, Paid the same rent, Rs. 1,250, and
charged similar prices for their food. Vendor A
employed three times as many employees as B
and had twice as much income as B even though

B and more than half the sales of A. Other data:

Vendor A Vendor B
Sales Rs. 8,000 Rs. 4,500
Cost of goods sold  50% sales  50% sales
Wages Rs. 2,250  Rs. 750
You are required to answer the t;ollowing:

(i) Explain why vendor A is twice as profitable
as Vendor B
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(i1) By how much would vendor B’s sale have to
increase in order to justify the doubling of
the number of employees at the same rate of
pay if B’s desired operating income is Rs.
3507 (6)
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P.T.O.
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4. (a) Enumerate the factors which may limit the use of -

marginal costing? (6)
P.T.O.
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(b) The sales turnover and profit during two periods

were as follows:
Period 1 sales Rs.20lakh profit Rs. 2 lakh
Period 2 sales 30 lakh profit 4 lakh
Calculate : |

(i) P/V Ratio

(i) The sales required to earn a profit of Rs. 5
lakh

(iii) The. profit when sales are Rs. 10 lakh. (9)
OR

A company is producing an identical product in
two factories. The following are the details in

respect of both the factories:

Factory X Factory Y

Selling price per unit - Rs. 50 Rs. 50
Variable cost per unit ~ 40 35
Fi)lccd Cost 2,00,000 3,00,000
Depreciation included 40,000 30,000

in above
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Sales (units) 30,000 20,000
Production capacity (units) 40,000 30,000
Required to determine:

(a) Break - even point (BEP) for each factory
individually.

(b) Which factory is more profitable?
(¢) Cash BEP for each factory individually.

(d) BEP for company as a whole, assuming the present

product mix.

(e) BEP for company as a whole, assuming the product

mix can be altered as desired.

(f) Consequences on profits and BEP if product mix

is changed to 2 : 3 and total demand remains

constant. (15)

(F) 3w W I Fw A w9 - e F
T = G w7
(@) 2 safr ¥ fel woarad sl wny Pl v oF 4

Y] Rl 20@FE@ R W 2 EE

gy B s AEER WH 4 TEE

P.T.O.
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The relevant data of X Ltd. for its three products
A, B and C are as under:

Particulars A B &
Direct Material (Rs./Unit) 260 300 250
Direct Labour (Rs./units) 130 270 260

Variable Overheads (Rs./unit) 110 230 180
Selling price (Rs./unit) 860 1,040 930
Machine hours Required (per unit) 12 6 3

The estimated fixed overheads at four different
levels of 3,600; 6,000; 8,400 and 10,800 machine
hours ate Rs. 1,00,000; Rs. 1,50,000; Rs. 2,20,000

P.T.O.
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(b)
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and Rs. 3,00,000 respectively. The maximum
demand of A, B and C in a cost period are 500;
300 and 1,900 units respectively. You are required

to find out

(i) the most profitable product-mix at each level

and

(ii) the level of activity where the profit would be

maximum. N

“Construction of break-even chart depends on

certain assumptions™ What are those assumptions?
(6)

OR

(a) Outline the basic principles of “Responsibility

Accounting”, - (6)

(b) Compute return on investment in respect of

Division “A” of a company on the basis of the
following information:

Rs. ‘ Rs.
Fixed Assets 15,000 Sales 2,00,000

Current Assets 70,000 Cost of Good

Sold 1,20,000
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Current liabilties 20,000 Administration

Expenses 20,000
Equity share  1,50,000 Interest on
capital Long-term

Loan 5,000

&)

X fofits & wefe s I8 &7 Il 7w A, B
ik C B fPr @ mwR 7
famm | A B C

v o (R IR ghe) 260 300 250

e o (' IR gfe) 130 270 260
oftsdt Iuftem (v i gfe) 110 230 180
fawa v (v 9l gfe) 860 1,040 930
aﬁa wfiT W (v gfe) 12 6 3

FiRe T Iuiem, W e ' W s 3600,
6000, 8400 3k 10800 %1 7f = 1,00,000F 1,50,000
% 2,20,000 ® 3k 300,000 & F @ww amEfr A
A, B 3R C @t st s &am: 500, 300 3R 1900
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